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Match the following :

fa) Krebs cycle ' 1. Occurs in cytoplasm

(b)  Ubiquinone 2. Diffuse from cytoplasm to mitochondria
(¢) Glyeolysis 3. Mobile carrier

(d) Acetyl-CoA. 4, Occurs in mitochondrial matrix

a) () (©) (d)

(
d 4 3 1 2

B) 3 1 4 2
© 1 4 2 3
D 4 1 3 2
Qummsss :
(a) dglspnd 1.  esa CLmbeammegdler men Gumib
®)  wsEemer 2. avel CLmGammesSed g el CLTemamg Awimeée
L&D
(c) derarsGarailatlen 3.  pamb Caflwurser
(d) edllLé genemreranenevider 4. enwol CLrsmangNwredlar Gol M&en Li@dulled
| | BenL_GlLmib
() (b) (©) (d)
A 4 3 1 .2
®B 3 1 4 2
© 1 4 2 3
® 4 1 3 2
é - GS0811
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2. The purines present in nucleic acids are :
I Adenine and Cytosine
1I1. Guanine and Thymine
III.  Adenine and Guanine
IV.  Cytosine and Uracil
@ I G m © T

Blursells siflewnsafan aramiu@on Ly Narsar

L Silgenarar Hmib engl GL réler
II.  @eurafer HmID ensLlen
III.  =qmere bpmb @eureien
IV.  aneGLrflen wHmid wirrdled
A) IV B) III (C) 1II
3. Find out the correct match/es :
1. Enzymes - Bioclogical catalysts
II. DNA 2. Nucleic acid
III. Insulin et Hormone
IV. Vitamin E - Water soluble vitamin
4 Il only (B) Ionly
© L IMandIV & 1 1and 10

silwmer QummsssSanand/ ILameugamer STl ls.

L
IL

III.

Iv.

(A)
(&)

GS0811

@mrdlaer
Iq.@T&IT. 6]
ENetraedl e
ameul L tflem K
IT w Hib

I, IT wpmb IV

o wiflw Aflwr eaxsHser

- Bluysafls 2iubteuld
- enniGLomett
- Bflew SeLd epeul_LiSlg
B) TwolEwo
D I, IT whmo T
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8. Choose the correct answer :
The itai-itai disease of Japan was caused due to
L Arsenie pollution
- IL Cyanide pollution
II1. Cadmium pollution
Iv. Lead pollution

(A) TandlII (B) 1II and III d I11 only (D) IVonly
- stlwmar eflen HHE

spliuredtler @l mi - @hlimi Grml 2 (meunsss A @ syeid

L g reails raur

II. MFUIENET LOT&LIT(H

III.  sm_1fwib wreur

IV.  GQel (fruwwb) LLEELC

A  Twopmo I (B) MuwogiwIll  (C) I wi @ D) IV i @

9. Match the following :
(a) Sericulture
(b) Horticulture
(¢) Aquaculture
(d) Apiculture

Farming of aquatic organisms
Culture of honey bees

Rearing of silk worms

SN B

Cultivation and maintaining gardens

(b) (c) (d)

(a)
o 3
2

4 1 2

B) 3 4 1
< 1 2 3 4
o) 4 3 2 1
QUMBEFIe :
(a) <Wefsdssr 1. freump 2 uGtflan euenmiiy
(b)  enrig&E0eT 2. Gaafl euemmiiy
(©) deuTaQEST 3. UL By eueTiyy
() g 9assr 4. Carl L_game

@ ® © @
(A 3 4 1 2
B) 2 -3 4 1
€ 1 2 3 4
@™ 4 3 2 1

GS0811 6
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Which of the following were among the main exports of Indus valley people. Select the

2'0- correct answer from the codes given below :
I . Wheat
1L Barley
III.  Cotton
IV. Gold
(A) I, IIandIII (B) II andIIl M ITand II D) III and IV
Spg #weeft wisalldar wpedu ghmodl Gurr@ma;mm Spsaam_ GHUIEsT apeatd sflurar
cllenLenwts CarblsHas. :
I Carglano
1L uimiradl
III.  umsd
IV,  shmbd ‘
@ Lwpgod I B) 1T wpgb IIT (©) 1wpmwII (D) III npmyb IV
21. - Match List I with List IT correctly and select answer
List I Last 1T
(a) Santhal’s Rebellion 1 1923
(b) Maplah Rebellion 2. 1929
(¢) Vizag Revolution 3. 1921
(d) Bardoli Satyagraha 4 1855
(@) (b) (©) (d)
@A 1 3 2 4
B) 4 1. 2 3
& 4 3 1 2
D 2 3 1 4
ulgwe I vl g I o et Qurpsd sflwrer sllanenu CoTpESH :
L igured uiguseo [T
(a) oTEEOEET SWED 1 1923
()  wrieT sWED 2 1929
(c) eeusTs sawsld 3. 1921
(d) uiGsred ssflumdlrsid 4 1855
() (b) (c) (d)
A 1 3 2 4
B) 4 1 2 3
© 4 3 1 2
@) 2 3 1 4
GSo0811 10 O
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29. Match List I with List II correctly and select answer :

List I List II
{a) Dupleix 1. Nawab of Bengal
(b) Anwar-ud-din 2. British Admiral
(c) Shuja-ud-Daﬁla 3 Frehch Governor
(d) Polock 4, Nawab of Carnatic

(a) (b) (c) {d)

A 3 2 4 1
B 1 2 3 4
(J 3 | 4 1 2
O 1 3 4 2

Ll igwied - ull.Lq_ﬁ_le'u 11 2 e Qurmsd sflwrer eflenew CaiibESH :

U igwied I uLﬁ.mé} IT
(a) @UGer 1. GUEI &6 BHal m
(b) &Gifreurr@;ﬁlciﬂ 2. prdelumL s
© o9%gres Qg,mgurr 3. N} rEna Seueni
d GCurGears 4. STeTL& Beurd

(a) (b) (c) (d)

@A) 3 2 4 1
B) 1 2 3 4
(C) 3 4 1 2

o) 1 3 4 2

® 11 - GS0811
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23. Match List I with List IT of the following with suitable options :

List I List IT
(a) Kural 1. Rishabham
{(b) Thutham 2. Shadjam
(¢ Kaikilai 3. Madhyamam
(d Vuzhai 4. Gandharam
(a) (b) (c) (d)
2 1 4 .3
® 1 2 3 4
© 1 3 2 4
D) 4 2 3 1
Ul iquwied I efmig uilgwe IT g Gunmgdl sfwren ellen_anwig Gab6sH.
U iguiéd I U igwied II
“(a)  @er 1. MagLib
(by &m0 2. STGELD
{(c) ovadlener 3. gHumbid
d) =pes 4, STHSTILD
(a) (b) (c) (d)
Ay 2 1 4. 3
® 1 y2 3 4
© 1 3 . 4
O 4 2 3 1

24, Match List I with List IT of the following with suitable options :
List [ List 11

(a) DBrahmanas 1. Forest Texts
(b) Sama veda 2.  Guide Book for Priests
(¢) Aranyakas 3. Ritual Texts
(d) Yajur Veda 4, Book of Chants

(a) (b) (c) (d)
A) 4 3 1 2

3 4 1 2
{C) 3 1 4 2

4

D) 1 2 3
sl iquwied I eNmba Ul igwied [T s Qummssis

Ui wied I uligwe II
(a) dymwewriser 1. GUENT [HCLS 6T
() amw Ceugld 2. HGrrdl g eudlam iy med
(€)  SpreRTIInISET 3. FLIBIG IS
(d) weyer Geugld 4. WSy Hredsar
() (b) (c) (d)
A) 4 3 1 2
(B) 3 4 1 2
(C) 3 1 4 2
™ 1 2 3 4
GS0811 12
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Which of the following is/are not correct?
Minto-Morley reforms of 1909 introduced the following.

L
II.

IIIL

IV.
(A)
(©)

The system of direct election was introduced in provinces
The act did not enfranchise women
It introduced dyarchy in provinces

Communal electorate was introduced

I only w I and III

II and II1 (D) III only

& GPUELLemeusafld gaummemeupenm @Ml LA (His.

1909-1b e WlenGLT -Lomiedl ErdlpEsmiser & GHLA L ST msshisaer 2HlapaliuhsEws.

I
IL

III.

IV.
(&Y
(©

Criry Caigse (peppepw rhlemgala gnu@ssiug
QueraEréE el B flann Carhaseildeamen

@rlenL = Senw orfleomigeatld gnuBhisSug)

eu@GUL eumy G0 (pepmenil SiPlpsiuiasiug
| QT OTY : (B) Twopgo IIT v’ Ho

IT gt 111 oC @i @) T wl @b

Who bestowed the title Sardar on Vallabhai Patel?

(A)

Dadabhai Naoroji (B) Jawaharlal Nehru
« Mahatma Gandhi () Rajendra Prasad

euveUmL UG @)&@E FTgTT eTamm LIL L LD @ g WU wimr?

A)
(©)

sramumi QperGrma)

LOETSHLOM ST ) (D) @Urr@gg.r_bgﬁh;r Ygams

During 1857 revolt which army remained loyal to the British?

By ggmgn)ﬁeﬁneb Gren

(A) Bombay Army (B) Bengal Army
'd Madras Army (D) Avadh Army
1857-1b <2pei(® Lyl Sullan Gug) EdCawmée slsarsnns Bmhs Gumened erg?
(A)  ubumi Grremieud (B) euhismer @rremiab '
(C) CQeananar G)ymamieuld (D) @?Gu_lrrgﬁ @rranieud
13
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28. Pick out the wrong statement.
(A) Veerappa, the Zamindar of Koppal rose against the Nizam of Hyderabad in 1819 -
(B) Gadkaris were military classes who garrisoned Maratha forts -
(C)  Chakra Bisoi was the khonds leader
d Sindhu and Kanhu were the leaders of the Kols
SEUDNET Fa MDD Fi g S&HTL_L LD, ]
(A)  1819-& Gamiiure Grmev mullensT eSFlLIT eraTUe T angrTUTE Horupsg ardime Harréd
QFgmT
(B) srisrflsd wyrsHwus Camlaml & &Teai&eT LeumTHeT
(C) wsay ISICS_e;rrLJJ ereTLIGUT Ga;rrsoiﬂ@a;aﬂebr‘gcmeueu-r'r <Y EUITIT

(D)  Apsanc whmib seran erarLieurser Caraaafler sanaaugreumigsear

29. Match the following :

(a) Simon Commission 1. 1928
(b) Nehru Report 2- 1932
(¢) Second Round Table Conference 3. 1927
(d) Communal Award 4. 1931
@ ® (c) (d)
A 1 4 3 2
& 3 1 4 2
© 3 1 2 4
Dy 2 4 1 3
Epaer_eupenn QuTHSSIs. :
(a) emawen @y 1. 1928
(b) GCrp sidlsms 2. 1932
(¢ @oer_meugl el L Goensy wrBT(H 3. 1927
(D aueluy enfls Srey 4. 1931
(a) (b) (c) (d)
A 1 4 3 2
B 3 1 4 2
© 3 1 2 4
» 2 4 1 3
GS0811 14 ' ©
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33.

34.

35.

36.

37.
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0.728x0.728 -0.272x0.272

Simplify :
HmpALy 0.456
(4) 0456 o 1 ©) 0.728 ®) 0272
iy 0728X0.728 -0.272x0.272
G=0%: 0.456
(A 0.456 B) 1 (©) 0.728 @) 0272
Ifizé,th n 5x + 2y is equal tol
y b bx -2y

2 5
@ 3 o 5 © 2 o 2
§=§— eranfleh gitgz CTGTLIG| ETHN (& FLOLD

2 5
A 3 B) 5 (C) o (D) 5

A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one half
of the age of his mother. How old is the mother at present? '

@ 42 W w0 ©) 45 (D) 48
e sufer snCUTaNSW euwig) Beul sTwmtler euwidad opHd Qrem) wLkens 2_dreangl. 8 eu(HLikiseT
&10158) sieuflen euwig), ieui gmurdlen euwifad LUrdlune o_ererg). gmurilen sHELTMSWL GUWIF) cTeTe?

A) 42 (B) 40 ) 45 (D) 48

1.2x1.2x1.2-02x0.2x0.2
1.2x1.2+1.2x0.2+0.2x0.2

A 1.2 @ 1 © 0.2 D) 1.4

1.2x1.2x1.2-0.2x0.2x 0.2
12x1.2+1.2x0.2+0.2x0.2

A 1.2 B) 1 Cy 0.2 D)y 1.4

Find the v-alue of

—eit A LIenUIE Smest

A bicycle marked at Rs. 1,500 is sold for Rs. 1,350. What is the percentage of discount?

@ 12 ®) 15 © 1 & 10

e Wfeuamguien eflame . 1,500 eremm @Hssiiul (Hearerg. @gamer qp. 1,350 &g elnmme,
FeT@E@HLIY FHEISHLD eTenen?

A) 12 B) 15 € 11 (D) 10

17 GS0811
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45.

46.

47.

48.
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In a cylinder, if radius is doubled and height is halved.then what happens to the curved
surface area?

(A) Halved (B) Doubled M Does not cliange (D) Four times
@@ 2 meeTulled, <y @@ wLkarEElIUL (), 2 Wb urdurs G®D&EsLILLLTe Bigem Loy
GTETTEUIBLIT(HLD? .

(A) ufrg‘;]u.]rr@Lb B) QmuwLmsrgd (C) wmorg @nmsen (D) Bren LLRSTEGED

The length of side of a rhombus is 5 m and one of its diagonal is 8 m. Then what is the
length of other diagonal?

(A) bHm B) "Tm d 6 m D) 8m

R sTUEGITSSen Lssgdlen Bard 5 1S, igern ¢pm epanavedl 1_sdlan Berd 8 15 arafldy =ipen wHQ@m(m
ppenevell L gdlem Bemid wimg)?

&) 58 B 18 ©) 618 D) 815

A, B and C can complete a piece of work in 24, 6 and 12 days respectively. If they work
together, in how many days they will complete the same work?

(A) 1/24 day (B) 7/24 day d 24/7 days (D} 24/11 days

A, B‘LDH'JQUL'D C aanuauiisdr g Comaeu wiyss wapGu 24, 6, 12 pr st a(iéss Caramaur
crafled, Gz Coumaenil HEUTSHET Bien a6l (HLD @Gmswr‘r_sg Qaigl pyhs THEMET BILGET
CaeneuliL(HLD?

(A)  1/24 prér B) 17/24 ‘r_F;rre‘i'r - (C) 24/7 priser (D) 24/11 prilsér

12 men complete the 2400 sq.m ploughing work in 10 days. How many men are required to
complete 3600 sq.m ploughing work in 18 days?

«f 10 men (B) ' 15 men ) 48 hen (D) 20 men
2400 5.5. flogeans 12 Gaumawriser 10 pm_safld 2 1z apyliui. 3600 #.18. flasms 18 pr_safld
2 (peusDG eTsapemar Geuene il sear Caaneu ?

(A 10 mylis6r B) 15 sy sar (©) 18 gy aar D) 20 sy aer

2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the same in
11 days. In how many days, 3 times the work can be completed by 8 men and 6 boys?

v(d 21 days (B) 18 days (C) 24 days (D) 36days .

2 yamaser, T dgeursar Gaipg @@ Couamanieanear 14 prigefld gpulium 3 y@redr, 8 Ameursdr
Gobgl, 216G CGeamaenw 11 prisefle Gsig @ulur aafld, Gs Gurd epemy Lm_nsj@
Geuamavenw, 8 gy amaer, 6 Hgeutsar Corng asgsenar BTl seafled GFiig wprylur?

(A) 21 priser (B) 18 prisen (C) 24 priser (D) 36 prliser

19 GSo0811
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Find the next number in the followiﬁg series

4,6,9,131

of 0

(B) 223 (C) 19 D) 17

4

Mlp—a

Aetraur(pid Gemfled i (RSg eU(BHLh eTETenenT STeim s

4,6,9,131

4

A 20i

B) 22

oo

G 19 Dy 171

Consider the following statements :

Assertion (A) :

Reason (R) :

Scholars distinguished a culture midway between Palaeolithic and
Neolithic called Mesolithic.

The chief characteristics mesolithic were the stone implements used
were extremely small and made up of Chalcedony and silicate

instead of quartzite.

Select your answer accoraing to the coding scheme below :

{A) Both (A) and (R) are false

{B) Both (A) and (R) are true but (R) is not the explanation for (A)
« Both (A) and (R) are true and (R) is the correct explanation for (A)
D) (A)is true but (R) is false

Epaa cursHtisaner seuaf]

Sabml (A) :

srranrd (R) :

Lenpl sharosHn@l sl spsrasshEb Gar Dol L rafls srosamg
@ e snarad eren 2iHleprsdr Geum(sgidlenmennt.

QL ssnaTasilen (pgeald LSTLTES SHSLULHUOIRT Ly SEEDEEhaEEL0
vdlers Beos smuapenw Qeustrenlp wenfls H0@ID WLHMILD WD FEEIL 6

et Lgib Qarem iaey fblw oerellevmen shamelladr guEh.

eﬁle'pé;aseﬁnL GhuPsmer Qarar(® sflwrer sflenLemw CaiE6SHESLD.
@ (A vppid R) @ranGi seip
B) A wogd R) sfl gyamea (R) arénug) (A) eflar sflwimen sryanmd e

(C) A vopb R) sfl. (R) eremug) (A) eller sflwmen smyemibd smesr
D) (A &l syarady (R) seum

21 , GS0811
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55. Match the following :

(d) Na a;ld K - (1) Obtained by electrolysis of fused salt

(by Cu and Ag — (1) Occur only in native state

(©) Au and Pt — (i1 Occur both native and combined state
(d) Na and Ca - (iv) Reducing agent in metallurgy

(e) Al and Mg — (v} Occur only in combined state.

W @-m -G ©-G @-0 ©-

B @-Gv ®-0 -w @O-) E©@-W

G (@-3G) ®-G>i) )~ D-Gv) @ &-0

D @-G) ®»-G@ ©@-0 @- ©-G)

Cummss s :

(a) Na wpmw K - (O 2@y eu SlaemhLEssald dalsHpg)
(b) Cu wpgs Ag — (i) seflgs Hleneuiley w1 (Hid dlen&Hng

(c) Au wpgw Pt - —  (ill) sellgs wHnb C&r’rﬁg Flanawuiles dlan_GH g
@ Nawpgb Ca =~ (v) 2Corseludd @ée sre

(e) Al vpmib Mg - (V) Geips Hlaneudd wl GG desdng).

Ay @- O - d-00 (e} = (iv)

B @-Gv O-O -G D->d) (-

€) @-@ O->G) @@= D->G) -0

O @-@@w -G @@-0 W- -

56.  Which of the following is/are wrong?

L.
IL.
I1L.
(A)

4

Mg,C,; on hydrolysis gives acetylene

Be,C on hydrolysis gives methane

Al,C; on hydfolysis gives allylene

land II (B) 1II and I11I

I and III (D) 1,1I and III

_' 9 emar(mel e D MIET FeupTaTeneu ergl/ereneu’?

L.
IL.
III.
(4)
©

GS0811

Mg,C; Bombu@ly i pg S geSamans s
Be,C - frmpu@iy sen bg) bsGsmer Geuafludi@ib

Al,C; Brmpugliy SieLbg dedmaenans S(mib.

I opoid 11 | ® I wpgi I

I wpmis 111 @) 1,1 wppid 11
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60. Match the following and select the correct answer
(a) Tax revenue _ 1. Provident funds
(b) Capital receipts 2 Taxes on income and expenditure
(¢) Non-plan expenditure 3. Sales tax -
(d) Value added tax 4 Interest payments
(a) (b} (c) (d)
A 4 3 2 1
B, 1 3 4 2
2 1 4 3
D) 2 3 4 1
Hletreumeusameubenpll @UTmES) Erﬂlu_marr_a@sm_smu_l Csira| Qews
(a) eurfl ugmeumdl 1 QU(REIETE enauLit) [l
(b) epeasen eumeum 2. au(Reuml opmib Qe Bamar eufl ser
() AlfldverQsoey 3. e Lien e cul
(d) Aoy s iguw eu 4 el g QFQISHiseh Her
() (b) (c) (d)
A) 4 3 2 1
®) 1 3 4 2
(C 2 1 4 3
D 2 3 4 1
61. | The National Statistical Commission of India was headed by
(A) Monteck‘Singh Ahluwaliya d C. Rengarajan
(C) Raghuram Rajan < (D) V.K R.V. Rao
@ bdwrefer Gl yereh efleur <y enamrilb Eeurgi Seveveniouiled yanwhbEHHSS!
(A) wran@& Hm @eumedwim (B) & Qrasyrgen
(C)  r@omb grgge D) &N.Ca.zym.efl. gren
62. The structure of Indian Financial System does not include
(A) Industrial finance (B) Agricultural finance
(C) Development finance d Deficit finance
@pSw Bl apenmuldlen s L_emoliy @genan 2 ararL_sdluig) e
(A)  Qsrdod Ha ®B)  Gevermar 4
(C)  eeridfl Hi4) D) ubpraEmw Bl
GS0811 24
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The MGNREGS differs from other poverty alliviation measures in the following respects

I. It focuses on income generation to the targeted poor.
1L It 1s built around the notions of citizenship and entitlement.
III. It facilitates disclosure by means of regular and social audit.

I\ It operates as per the directions of the State/Central Governments.

(A TandII \ & 1 and Il

(C) landlIV (D) IIandIV

MGNREGS Ap gpew féen S risefadlnhg Spssamr._ eflgsdld CoumuBdng.

L. MGNREGS ghlul 1 genpsatien eumeunulenar 2iflafée b Crrésapanwig.

IL. £)8) Bl ESET HMID g UL 2 Manoenis Y FTILTEES damen () 2 (heurssiulL g
III.  Qar_ihs wHmib supsmu sararesilusnsren cuflpennsamer 2 md Qeidng.

IV. - rfle wopb wsslu oreaatc oamans@psdams dsudubEng.

(A I wobmwn IT (B) 1II wpmin 11T
(C) Ippw IV D) NMuwpmbd IV

“Justice D.P. Wadhwa committee was dppointed by the Supreme Court to examine
(A) Insurance schemes
{(B) The level of black - money in the country
(C)  The functioning of rural development programmes
\M The Public Distribution System .
2 && BAleannisre Geng pymieugnans hdurer D.P. cungeur @p SendsiilLg)
(A ST GE S
B)  mrigen sEpULL LTSS T HHaTey
(Cy  dgrw euatiddlg Sl disaflen dewaun@se

(DY  Qumrg NHCWLITE apenm

The Nutrient Based Subsidy (NBS) policy for fertilizers was implemented in India in

C(A) 1968 ' _ B) 1977
(© 1991 W 2010
GpSlwineiley o TRIGEREHTa 2a1’ | FsHlen g UL WSlearar wrefliug Caretans gdreu Ml e
(A) 1966 . B) 1977
(C) 1991 D) 2010
25 GS0811
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66. Which Indian city has been declaréd as the cleanest city in the ‘Swachh Bharat’ ranking

20157
(A) Kochi (B) Thiruvananthapuram
(C) Bengaluru M Mysuru
‘GHsd Qo GpAur Llgwedd aps @BSL peTD s Esswrer FETL ey 20150 Gsiey
Qe Gareng?
(A) Qarsd | (B)  Hmeuenpsyyb
(Cy  Quiiaenm ‘ (D)  enw@,m
67.  Whois the chairman of the 20t law commission of India?
f Justice. Ajit Prakash Shah (B) Justice. Srikrishna
(C)  Justice. Katju : (D) Justice, K. Balakrishnan

@ndureilen 206ug) FL &@(padlen enasum wmi?

(A) ﬁgﬁu@ 21885 &y agm (B) Budl. o Smewemrm
(C) BPud. sligr (D)  Baud. K. urewd)meipemran
68. Recently Union Government has decided to develop a city as spiritual capital of the country.

Which among the following is this city?

A Ujj.ain ' Varanasi

(C©) Nasik M Bodhgaya

TS STOSH S SIFETETG Bl B ig e @ persdlamer enfs Lallss smaBbsTons
2 (Heunss (pig.Lleu(DagiaTars). SDEGHERT_UDMIET gl THS FETLDTELD?

(A) o gGmuer (B) eumpemimél
(C) prds D) yssswr
69. India’s largest telecom operator is
(A) TATA M Bharati Airtel
(C) Reliance (D) Aircel
@rgwuredlar Blal@uilu Gsranag GEmiry Flmeuand 6rg ?
(A  umr (B) umrd gr@é
©) Asvewdna ' D) giQsd
GS0811 : 26 ®
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80.  Government of Tamilnadu awards Dr. A.P.J. Abdul Kalam awérd for a Tamilian for his/her
contribution to |
(A)  Development of rural health services 7
%{ | Scientific, art and literature development, humanities and student welfare
(C)  Tamil literature development
(D) Development of Sports | .
sWOlps =irs Dr. ¢.9.Cay. é{l.ﬂg]d.) sombd ell(mens b g,L[S]IEQ@S@ Gsgmienpuile URisallibhers
uPrIGSDS ,
(A)  dpmodiyp ssosry Cobur@
(B)  wifleflue, same hmib @esdlu eueried, waflg CHWID LoHHILD LOTERTEUT HEvET
(O sl Qes auerras
D) efmerin’ (3 sl genGamhnid
81.  Identify from the options the name of the Central government portal for students looking for
educational loans
(A) Vidya Vikas (B) Edu Care
d Vidya Lakshmi (D) Shodhganga.
raauisafler sbelld sLer Qam_iumer wsHL opflean aeud &@é&iﬁﬂ‘le,@Jﬂ)deT eTgerlle 2 emeng)
m&umgé; ST Ml&
(A)  fsw eflamds (B) e Canr
(C) &gw el s - (D) Censsmiam
82. Which of the following day is observed as the National Statistics Day?
(A) June, 8 . iﬂf June, 29
(O July, 1 _ (D) October, 5
&@é;aim_ e fard “GCaflu yeraflwd Hanors” sigefssiuBEng?
(A) g8 : B) ¢an, 29
C) oo, 1 D) =&CLmuf, 5
GS0811 30 @
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‘Pay Zapp' a mobile application to make digital payments was started by which Bank?
(A) SBI

(B) ICICI

| M HDFC

(D) HSBC

safliurdl  apad vewd Osgss ‘Pay Zapp eengyh esGudl Gewdlome b curiid

‘Fleurudlu|eTerg|?
(A)  erev.ben
B) gigég

(C) Gamé.gq.ernid

D) Qaps.erev.@.8

In the Australian Federal elections 2015 for the Prime Minister of Australia, who emerged
as winner?

(A) Tony Abbot

(B)  Kevin Rudd

E( Malcolm Turnbull 7

(D)  Julia Gillard

2015 evdlGreflw LGl Gy Coirgadle %du‘é,]éqs&w g wpHflwre Geuphdl QubDesT wirr?
(&) CGumafl Gum_ | | |

(B) Useiler m

(C) mevamb GLieyed

D) @9flwr daowrid

31 GS0811
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The Administrative Reforms Commission of India was set up on 5 Jan. 1966 under the

Chairmanship of
(A) K. Hanumanthaiya
(B H.C. Mathur

(C) G.5. Pathak

M Morarji R. Desai

1966-1b ey smareufl Srusar 5-1b Csd aHLGSSILLL BEHL Hicurs SBmss opmamusddn
se@euit |

@ K oguopsiun

®) H.C. orsi

©  G.S. unésé

(D)  Gwryrrdl R. Caami

“The Supreme Court in the Indian union has more po'wers than any other Supreme Court in_

any part of the world” — Who said s0?

(A) S.M. Sikri
M Sir Alladi Krishnaswamy Ayyar
(C) M.C. Setalwad

(D)  Justice Kania

‘@B msdugBen o ss foampd o wddr s Bl ugier oés foapsms oILapd i
SIFSTTID 2 enL_ WG G0, @Gheu@ g Hlwieud wmi?

(A)  ereiv.erid. S

(B) &7 idweomg é\@si@mf&eu msl o

(C)  eb.8.0scbeus

(D)  pHud areaflwim

33 GSo0811
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93. Match List — I with List —IT :

Laws Years

(a) The Banking Companies 1. 1966
Ordinance,

(b) Special Bearers Bonds 2. 1980
Ordinance

(¢) Unlawful activities 3. 1984
Prevention ordinance

- (d) Terrorist affected areas 4. 1981

ordinance |

() (b) (© @
A 4 2
®) 3 1
« 2 4

3

3
2
1
D) 1 4

1
4
3
2

U igwied T-gp uiiiquieh II — o e Guim@mées : .

FULLD QU(THL_MaI&eT
(8) el GpLRIGET Siaus] 1. 1966

FL b A
(b) Eply Genemtapml 2 1980

USSITRISET HeUST FLL LD
(©) & L ypbLrer 3. 1984
T pLeur senssEaeT SHEGID UL LD :
(d) Sefyeurdlsermed 4. 1981

umlsslul L LGSlaer ieusT sLLID

() (b) (© C)

A 4 2 3 1
®) 3 1 2 4
© 2 4 1 3
O 1 3 4 2
GS0811 36
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94. The Protection of Civil Rights Act came into force on
(A)  19th December 1974
\3( 19tk November‘ 1976
(C) 1gth December 1975

(D) 19t November 1977

Glgeno 2 Aanwaer LTSl LD Spal&EE Carabr(h eugliut L Brer
(A) 194e0ur1974
B) 19 peubur 1976
(5 19 gabur 1975

(D) 19 peubur 1877

95.  Who one of the following persons is the ex-officio chairman of the Rules Committee, General

Purpose Committee and Business Advisory Committee?

M The Speaker

(B8) A member elected by the house
(C©)  The Deputy Speaker
(D) A member of Ruling Party
QenaumuelBer ereum  gHeul, oldlapeonasdr @Gup, Gurgy Crrsstisar grer @up, uewnf]
2 CamseneisEp A weuhder Lsed cuflgsenaeun peur?
- (A) | FUTEMLSGT
B) ‘&smumrrs'u Cahds@saliulL o plnlent qmeuT
(O geooaw sUTETLGT

D) pephs’ S 2 minlent gpeu

T

® 37 . GS0811
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96. Match the following — Establishment of states and choose the correct one :

(a)
(b)
(c)
(d)

(B)

©

13t Amendment
27t Amendment
56% Amendment
(a) (b) (c)
s 42
1 3 4
2 3 1
1 2 3

D)

36th Amendment

States
1.  Goa
2. Manipur and Tripura
3. . Sikkim

4. Nagaland

. SeeumeuaneudmiaT mfletiser ienliLg @flss sfiureatens Catey Qalis.

(a)
~(b)
()
(d)

(A)
(B)
(C)
@)

GS0811

36 cus) EBmEsib
13 eu.g,j Frilmsaib
27 aug) B mimid
56 augt Erdl(mSsLD
(a) (b) (c)
3 4 2
1 3 4
2 3 1
1 2 3

oMbl evrkiser
1. Garaur
2. wanfllim & Sfluygr
3. H&HD

4. - BI&Te TS|

38
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Which of the following are major features of the constitutions of Ldkpal and Lokayukta as

recommended by the Administrative Reforms commission?

ro

@)
-«
©

(D)

The-y should be demonstrably independent and impartial
They should compadre with the highest judicial functionary in the country
They should be directly accountable to parliament

Their aﬁpointments should as far as possible be non—political

1land4
1,2and 4
1,2,3and 4

None of the above (or) 1, 2 and 3

Breurs FTHmss peammwugsnad ufbgeny Cebwtin’l eewlysarrar Cordund  wHDILD

Coorgpu|sgnetlen (wa&Esdr eSm wHMIb wase APilumeTt) s LS SDsaEamTLcuDDIeT 6Tg)

ETeT S Meyh?

1. genaflFaUTsEa]d UTTULFnm apenpullain CFueduise
2. B ig6b 2 Febdwemmglen deweum(aEsL e sl i
3. ungn@wmmgﬁﬁ)@ u@maﬂé;a;és Salg WeUTSHET

4. Sjeunaeng) blwierid <l sTITSUTY B)(Hés GouamHib
(A) 1w (o4 -

B 12w (@Gb4

(C) 1,2, 3wl(hw4

(D) Guhaar ageylicvana () 1, 2 b Hib 3

39 GS0811
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98. Identify the numbered substances in steps of Glycolysis
Glucose —> (1) —> (2)—> Fructose 1, 6 bisphosphate

(A) (1) is Pyruvate (2) is citrate
(B) . (1) is Glucose-6-phosphate (2) is pyruvate

M (1) is Glucose-6-phosphate (2) is Fructose-6-phosphate
(DY (1) is phosphoglycerate (2) 1s Glyceric acid

SmersGarallfley uy Hlamasaie eramsamme @hlasiu’ L Geulu@Qurersaaend sam@LAly
GEpEGamey —> (1)—> (2) —> SUréGLmav 1, 6 WevumavGul

A (1) erapGeul (2) ALGy

B) (1) EenGarev-6-ursvGui (2) enurGeul.

©) (1) genGarev-6-urevGul_ (2) «sligsGLmen-6-LimenGLi

@) (1) urevGurdefzGrl (2) deflsMs siflebd

99.  Consider the following pairs :

L. Thallophyta - - Algae and Fungi

II. Tracheophyta - All vascular plants

ITII. Bryophyta - Liver worts and Fungi
IV. Pteridophyta — Mosses and Mushrooms

Which of the pair given above is/are correct?

(A) T and IV # TandII
(C) TandIV (D) 1IandIII

Qetmeu(mLb @)enemTaHeneT &MHadld Qamers :

I snGemren L - OETEHEET LDHMID LY EHED EHEET

II. g-7&ECuirepulLm - GUITE(GEVMT FFEHEET 2 NI HeNEBSG| STEUTRIGET
III.  YespCumenuilim - SleuTGeum_e HmID LL@Ehan@Eh&aT

IV.  QufiCG menul L - LOTGV&ET LODMILD & TeTTeHmaaT

CuhEHlb L Gamansafi ety &il?

(A I wpyon IV (B) Twomwbll
(C) TwhmbIV (D) IIiopmd I1I
GS0811 o - 40
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108. If a colour blind woman marries a normal visioned man, they will produce
(A) Normal visioned sons and daughters
d Colour blind sons and normal visioned daughters
(C)  Normal sons and colour blind daughters

(D) Colour blind sons and daughters

Bns@E@mlG dusmrerflin@d, @uidiimer urianel Caram. pelih@En Smneand BLbgrd, Geumser
QuDADH&E@D

(A) LOSHEMSEET LOHMLD EETEET G)UIedL mam urrr'rsme‘u asu}l_meur'réeh

B) wsdager FDEGOHLOSSM@L 2 MLWeTEET  LOHMD  EdGET  Guédurer  LMTme

8 enL_WIGUTSHET

(C)  adtger Queuner UTTenel 2 e W&  opmb  waasdr  flng @Gl fdsdaemo

D_EnL_LIGUMTHET

(D) aEansdT LHDHID WaEET Hné@EmL_(Dd Semend 2 enL ILeuUTSeT

109. Cretinism, myxoedema and goitre are related to the disorders of the

(A) Parathyroid gland % Thyroid gland

(C) Adrenal gland (D) Pituitary gland

R 1q aflaih, LQS'SG:EFITGFLQ.LDTT LHMID (PET S(pSGiEpane &I CHreTrmiseT @lseanL e CSm e iig
(A) Gug‘rrsmg;grruﬁ@ sS4 (B) osrmi s .

C) =i Famed sl (D) @lwlr A spad

110. Which one of the following is NOT correctly matched?

M Anopheles Stephensi —  lLeishmaniasis
(BY Glossina Palpalis | —  Sleeping sickness
(C) Culex Pipiens —  Filariasis
(D)' Aedes Aegypti - Dengue fever

Sp&aamTLeunmieT Saunrs GUmESSULIL{eTerg) oTE?

(A)  oCGar . Dedlev cuie@uesdl  — eSeuBoeflw mlen
B) darflalur urdumadien - 2 n&& Grmd
(C)  Swadev epundwesen — WTenanasra Grm
D) grdvrlien - Qi@ smliFFe
GS0811 44 W
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The list of coded instruction in computer is called

Program (B) Algorithm
(C)  Flowchart (D) Application software
seflLQurlulled syenarrsaflen Cam@LiLy
(A)  Hye - B) Cpflgpenm
(€C) Qswe eu b (D) vwenum { QuenG@umaper

Choose the correct match :

List I ' List IT
(P) Fault ‘ 1.  Stromboli
(Q Fold 2.  San-Andreas
(R) Earthquake 3. Himalayan Range
{(S) Volcano 4. Epicentre
5.  Weathering
6. Exfoliation

(A) P-1 Q2 R-5 S-6
B), P-5 Q6 R-1 S§2
 pr2 Q3 R4 S-1
M P-4 Q@3 R-1 8S-6

shlurs Qurmpdlueinenn CarbEshées :

i igued I g wed IT
(P) Jdearey 1. gurmoGumedl
(Q) gy 2. FITEHT D3 GTLITET)
(R) yelldimey 3. Qouweas QT
(8) erflwane 4.  ofiieyerowid
5. anaflaas daseal
6. Gumann H&sb

(A) P-1 Q-2 BR5 S8
B P5 Q6 R-1 S-2

) P2 Q3 R4 S-1

M P4 Q3 R-1 S6

The major temperature fluctuations.in surface waters of the tropical Eastern Pacific Ocean
is called as

(A) Temperature inversion (B) Convection

(C)  Thermocline # ElNiro and La Nina

Sjwen warta Hypse udQs sapsdy Cupurtnia ghu@dib Geuliu gpmg srpeysarrang Geusumm)
Qe pssILBED g ' '

(&) Qe @& LTHOHL @) Qeutiué sewand

(C) QarGurélaerar (D) eéd BGenm HMID eor Blewm

45 GS0811
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114. The portion of incident radiation reflected-back to space from the planet is called

(A)  Atmospheric windows w Albedo

{C) Rayleigh scattering ' (D) Law of scattering

@flws sfieieflar om ueH Grduafiifer gpab iartlauaiss Smul @@iuuliufeug @Gusurr@:
HenipssliLhAng _

(A)  euafloerte sanareaer ‘ (B) é{@b@u@l_rr

(C)  yrCGe epaflé Azmed ' D)  qefis fgma el

115.. A major diamond mining centre in Belgium is
(A)  Aalberg (B) Aberdeen (C) Aabenraa w Antwerp
QuégluisSled 2 eter @@'ﬂggrrm GOEUTEF&HITRIGHLD
(A  peCums B)  =Cumger (O = Queamn (D) e Gleurmsals

116. Rank the given soils of India in descending‘ order in terms of their area / extent
(A) Red soil, Alluvial soil, Laterite soil, Black soil
(B)  Alluvial soil, Red soil, Laterite soil, Black =so1l
(C) Red soil, Black soil, Alluvial soil, Laterite soil
Alluvial soil, Red soil, Black soil, Laterite soil

QarRssLuC Herar @AW e cuamaasmer LFLLeTailen SigLiLenLwbid Ginhi@ euflamsiu(isgis
(A)  Gsbwer, sudrd e, GeolLanyl weir, silaa wewr |

(B)  euemr_e e, Gsblogr, GoolLany e, silad wewr

(C) CGebwer, afgd wer, cusme e, GevlLeny LoesT

D)  euesTcd Lned, Gleibioet, sflge wedr, Geol_L ey ez

117. The planet which is known as the ‘God of War’
(A) Mercury (B) Venus d Mars (D) dJupiter

‘GUITT &LeyeT erarmenpdsliu (Do Camer
menLp

(A  uygen (B) Gavdrafl (C) GQasusuml (D)  eflwmpeair

118. The ice-crystal theory to explain precipitation was propounded by

d Tor Bergeron (B) E.G. Boven (C) Richl (D) Davis
wenLp eipaflen efleuMss LierilliLig & Carlurl a2 (meunddlwieur
Ay wmmQuidpger  (B) @) Gur@eusn (C) Mébleed D) GCrLaleu
GS0811 . 46 )
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119. Consider the following about scientific dating of the pre-historic period : Choose the correct

code.

I

I1.
111
IV.

o

(©

The technique of radio-carbon dating is based on measuring the loss of carbon in

organic materials over a period of time.
Another dating method is known as dendro — chronology.
Palaeo Botany is the analysis of prehistoric plants.

Palacography is the study of ancient writing

I, II and III only ® LI,LIIandlIV

II and II1 only (D) III and IV only

UTQMTDMSE Wphesw stogdea ifledue Sgliumialde stsms sansdBoudd el mn

sapenm seual : gflwumen smpenp CarhASMH :

L

IL.
1L
Iv.

(A)
©

@@ GILALL srasdhe Y o ulremt G]un@l;a;mfisb CTHS eTe &S &ﬂmm.@mm;bgmmg
qatuems SgliumLwunss Ceranp asreses sansdHn  apeepGu GrgGum-smiuer
(PENDIITGLD. '

wHQoms wpern QLer”_Grr sressafliluy apap erariL(h&mng).

Qzed reureRiich QST Freuy uenasener c,ﬂxcbu'_leﬁ Qeleug).

Qsra@e(pds (pan LIPRISTE T(9SSISH606T undlE@D (PE®DIINELD.

I, IT wihmpo 1T wi G ®) T, 1L I wpms IV
IT whgd 11T i Gid (D) I whms IV w @i

120. Which among the following correctly matched?

.4
(B)
(©)
D)

Kol - Madhya Pradesh
Chhutia - Nilgiris (Tamil Nadu)
Kotas - Little Andaman
Jarawas - Assam

Spsamsunmer erg #fwims QunpbHuerarg:?

(A)
B)
©
D)

Gamen - wgHw SrGsain
G - poditer (s0ppr6)
GarLmey - Sl 1g 6 D BFLOMET
QTITeuTan - SIGVEVITLD
47 GS0811
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Identify the correct order of events of Muhammad-bin-Tughlug.

(A)
(B)

<

)

Transfer of capital, conquest of Nagarkot, Reform of Token currency, Taxation of the
Doab

7 Reform of Token currency, Transfer of capital, Taxation of the Doab, conquest of
Nagarkot
Taxation of the Doab, Transfer of capital, Reform of Token currency, conquest of
Nagarkot

Conquest of Nagarkot, Reform of Token currency, Taxation of the Doab, Transfer of
the capital :

Germeimeuaraupiled pawg e graeans sre Blépsflamer sra aufleanFudd HepLLTETD STeims.

"
®)
©

D)

ger@pa LIHOWL, HraeTGer_ umLEWELY, @ wurer prarw Sidmssn, Csr oyl 1Bg;
cuilallglLiLy

SiepLwmer preml STHmESD, svwnsT wrHow, Gasr =l 5g euflaldliy, prarCam
uent Gu@ay

Gar =pU B Gurﬂa‘ﬂﬁuq, FHDOBSHT WIHDOLD, HenLrer Brawu ST mEsn, pratGami
UenL_ GQuwi@iy

BrarGatl uemGu@iiL, senLwirear prewmu ST mesn, Car oyl Bg cuflefiny, g,cmbg,.sr’r
OTHOID

Consider the following relating to Babur.

L
1I.

o

(B)
©
(D)

The Autobiography of Babur is ‘Babu_r Namah’

It was originally written in Persian

Only 1 is true

Only Il 1s true ,
Both I and 11 are true
Both I and II are false

uTLmEEG OsTitlmLw &G Qsr@ssiLl Derarens &HE;s.

L
II.

A

(B)-
(&)
@)

urufler swefleng ‘LTUT BIOT L@

igeflen apa B umpés Quomflulila 2 drarg

I o GGw sflwurgw

[T bl GG sRlwmEn

L, I1 ol @resr (o sflwimgn
L IT g flu @rar@b euprg
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131.  Identify the statement which is wrong.

(A)

(B)
©

The modern method of writing with coma, semicolon, and full stop are the
contributions of the missionaries

Robert De Nobili and Caldwell enriched Tamil language

The missionaries introduced Printing Press

The missionaries spread the Gospel only through English language

Qenhisslul_Heren sursdunseaile Seunrear eursadiusens e WTerD & (H&.

(A)

(B)
©
D)

paian  enpdg  pepwrer &om, QelGsree, wphmuyeel  eraruenes  Wsisentlaaie
BEGIETENL. <5 LD '
rrul g QEmAedlujib sme(y Geucvgid sullenyp CurDl cuaTTEgemt

Wepanaer iFs Qubdsang Bbdureile Laigert

Wegerfaer oA denws opmi e errgﬂuﬁleb urL Qe

132. Consider the following Reason and Assertion and choose the correct answer from the codes

given below :

Reason (R) : The diet of the early Tamils was not very different from that of modern
times. Ghee played a conspicious part in the diet of all, it fetched a high
price.

Assertion (A) : Ghee was used freely both by vegetarian and non vegetarian Avur

v

Mulankilar and Purattinai Nannaganar spoken of the use of ghee.
(R) and (A) are correct, (A) is the correct explanation of (R)

(B) (R) and (A} are correct but (A) is not the correct assertion of (R)

(C) (R)is true but (A) is wrong

(D) (R) is wrong but (A) is true

&G Qar@ssiul_(Reten smpemd wHMD elassgas smsHa Caran®, aflurar eflaew
GHlSGsaladlBbs CoMpEs6-

amyartid (R) 1 uamenLw sl aseflan 2 eyl LWSSD,pelan sraGans el ImLC L e,

QB G WPEEL 2 aairas meandg wasERD LusLBdan. QshE s
ahlenev dlanL_55g.

ellaraain (A) © engeuld LHMID Hensaild 2 amgniDd Hmarsg WaEHEHD CBl uweTLhsdlean,

GV
B
©
®)

GS0811

QT ppBRIEPTT DM Lpsdenant pemanmaamTi Gpdiulder Lwenum ubdl
Hlenpw Aeliflsener er(pdli|ererei. |
smrend Hmid eNersaapd &, arransdlern clarssb efluns Bar@ssiiul (Hereng.
srramapd sflerdspb & @Lenre sryangdler ellatégan sflwurs Aar(&sluLefdaama
aryewTd &l eSlen&aid seum)

STTERTD Feum eSlensaLd &l
52 ©
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143. Alex invested an amount of Rs. 8,000 in a fixed deposit scheme for 2 years at compound
interest rate 5% per annum. How much amount will Alex get on maturity of the fixed
deposit? :

(A) Rs. 8,600 (B) Rs. 8,620 ([) Rs. 8,820 (D} Rs. 8,840
ET(HEE 5% eredtn Fnl (5 eulig Ui, 2 Sy arhHiEEnd@ 2 Gade sramueu @, 8,000-5 HirhsT ensuliy
L g sl deldapmi. b5 WwHdH wdHrey sie b Quripg, SGosd dunb GgTams
wmg? .

(A) em.8,600 By em. 8,620 (C) em.8,820 (D) . 8,840

144. The difference between the compound interest and simple interest on a certain sum at
8% per annum for 2 years is Rs. 240. Find the sum.

(&) Rs. 35,000 (B) Rs. 85,700 & Rs. 37500 (D) Rs. 40,000

Eremh e HHEHEE, AATHEG 8% ey is558d, @ Osrasddar @t (h eully WHMID
Feneur g siendE Gen G 2amer ellgHwired ap. 240 erafled oibhg Camansudlen wELL| eTeren?

(A) a5 35,000 (B) @ 35,700 (©) @ 37,500 (D) . 40,000

145. If the rate of siumple interest is 12% per annum, then find the amount that would get
interest of Rs. 6,000 per annum.

(A) Rs. 82,000 (M Rs. 50,000 (C) Rs. 72,000 (D} Rs. 45,000
@mBEE 12% safl euilig aigsdd ap 6,000-g erran( euliguins QarhE@n darensaud sras.
(A) a5 82,000 (B) @ 50,000 (C) e 72,000 (D) . 45,000

146. Three solid metal cubes, whose edges are 6 ¢m, 8 cm and 10 ¢cm are melted and a new cube
is made. Find the length of edge of the new cube.

m 12 cm (B) 24 cm (C) 20cm (D) 48cm

6 Qg.5., 8 G185, 10 Qe.18. uaapdren ppenm 2 Geragsrerean ST saregmadt 2 ESUULE ¢
yHw sesgimd Geowiu@dpg erafld yHu saisgrsdlen Lasssen Hemb wirg?

(A) 12Q@s.5. (B) 24Qs.85. (C©) 20Q&.15. (D) 48Qds.85.

147. Find the number in the place of question mark :
21, 25, 34, 50, ?, 111, 160
(A) 86 B) 72 '(A 75 (D) 59
Caerelils @Husl L @)L 556 eu(HLD eTeiTanamTs SHTess :
21, 25, 34, 50, ?, 111, 160 _
(A) 86 By 72 (C) 175 (D) 89
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159. An example of commonly used herbicide is

(A) p, p' —dichlorodiphenyl trichloro ethane
d 2, 4 — dichloro phenoxy acetic acid

(C)  Benzene hexa chloride
(D)  Naphthalene

Qurgieuray LweTURSS LRI Senar&bamael]

A)  pp —o_gCamCrmenL ienard yanr@GCermCrm m5Cgen
By 24— Gd)L,@GﬂTI’I’@D"IT Senrmdedl & 1q & =itflevih

(C) Guener Qapasm GCarmeny(h |

D)  prllgden

160. Match the following :

I IT III
(1) Thiamine (a) Cheilosis (1) Pellagra
(2) Niacin (b) Polyneuritis (1) Glossitis
(8) Riboflavin (¢) Nicotinamide (ii1) Beri beri
(4) Biotin ' (d) Antipernic (iv) Hyperestheria
(5) Cyanacobalamine (e) Coenzyme R (v) Pernicious anaemia

@ D-@-v @-B->G) @-0-0 @W-WD-30) 6)~E-iv)
DH-0O)-@) @-©-0 E-@-3U @-~E)-G) ©6)-d-W

€ O-@D-) @D-@-M O-O-Gv @W-(-3ii) G~-E-0

@ D-@-v) @-@-G E-D-v) @D-@-@ & -b)-Gd

QU SIS :
I I1 ITT
(1) swban (a) ECGeonélev (i) Queovasyr
(2) Rudfer (b)  wrelfluyfiigev @) @Gerfliyav
(3) ACGumYAereden (c) BGarligemeninl) (1)) Qufl Quf
(4)  uGumgelr (d) edrluiefs geenio (iv)  e@apuGyavAur
B) swenCGsrumaSien () Qewew Aprd-R )  Quireflflwued Qués Cerens

@ DM-@- @-b-@) E)-@-0 @W-d-3Ga) ©6)-e-Giv

@B @O-®O)-3G) @D--0 E-@- @W-E©-> G-W-E

© D-@W-@W @-@- @-M-Gv) @D-©-3d) G-~
D D-E@-) @-@-1) E-D- @D-@-0 () (b))

GS0811 60
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The Indian Constitution describes Legislative Relations between Union and States in
Article from

W Articles 245 to 255 (B) Articles 256 to 263
(C)  Articles 264 to 267 (D) Articles 268 to 276

ag dfsailar Sip Qbdw siTfluweniy wsSHu bLHnL wrhle &L Fgmpular 2 pejser LHb
GALSGEDE?

(A)  fdlaet 245 — 255 (B) &0fsar 256 — 263

(C) eflser 264 — 267 (D) AHsar 268 — 276

Which of the following is/are incorrectly matched? Select your answer using the codes given
below

1. Credit creation _ — Reserve Bank of India
1L Commercial Bank - Accepting deposits

III. Reserve Bank of India - Control of credit

IV. Quantitative Control =~ — Scheduled Banks

W Iony ®) landIl
(C) ITandIV (D) TlandIV

Gemreueuaneupiler ereman  sfwrs Aunmhsalama? &G Gar@éstu@drar  GHuiGeeaner
Lwenu(pss o miser eflenLanw GaibEs(HES

I &G 2 (HEUM&HSLD - @ibdlwer fleie aurtid)
II. euenfla; eumbidlaer - eneuliL|gener ermé Glamemen e
III.  @sdwen farey curid - &L e S HUUbHSS S
IV. ea@mentere 5L HLLM(
(PENMEET - LI g6 euradl e
4) Twlpo (B) I whmw IT
(€  ITwopydIV ' D) I wpmo IV

The phase of rapid growth of population in India falls
(A) between 1891 - 1921
(B) between 1921 - 1951
between 1951 - 1981
(D)  between 1981 - 2001

@sfureiled ellepyeuran wéaar Ggrens auerméd gHUL LG QéaTwns s SEd o@w
(A) 1891 - 1921 <y em(Raaien
B) 1921 - 1951 syan(said
(C) 1951 — 1981 gy ampsaflen
D) 1981 — 2001 syarBaaia
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Arrange the following sectors in India descending order according to the commercial energy

consumption

1. Household sector
2. Agriculture

3. Industries

4. Transport

(A) 4,3 1,2
G 3,4 1,2
© 3,421
D) 4,1,3, 2

aefle g6 marellen oglivenm uie) Spsaramid @g;lg‘,]u_l FlenmaeneT @mEiE  euflensuded
auflengliLiNSg)s ' '
1. @lvasggienm

CeuemmairenLn

2
3. Qgrfihemene
4

Curdgeurssl
A) 4,3 1,2
® 3412
C 3,421
D) 4,1,3 2

“Indradhanush” introduced by the Central Government in August 2015 aims at :
(A) . Establishing a separate ombudsman for private sector banks

(Bf Reviving or revamping public sector banks

(C) Reviving non-banking financial institutions

(D) Introducing new banks in rural India ,

sl 20156 wsSu @irend <l epalLREsIUCL ‘DbdTs@ien’ AL s Corseath
A)  seflunt gienp cumdlsener Hiieudlaa safl amwlmu ghubsseug

B) OQurgs Ziewn cutidsmer CubLRSSGUE Siwwg Frepwliug

(C)  euindl gy Bl Flmeuaisener B ( FrenoliLig

(D)  capas @pSureler Y eubidlsener siflwpslubhEgieug)
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Identify the correct statement from the following

4

(B)
©
D)

Tiruchirapalli has been declared as the second cleanest city by Swachh Bharat in
2015 '

Tiruchirapalli has been declared as the second cleanest city by UNESCO in 2015
Goa has been declared as the second cleanest city by Swachh Bharat in 2015

Mysuru has been declared as the first cleanest city by “United Nations Organization
in 2015

Spssereupmiet sflurear apbanens seimls

AA)

(B)

(©)
(D)

Amsflyrieatell  pargens Grewimeug &Gsomer psD e 2015-@  eveud  unys
Sifleflsgicmang) .
fimalyriverell  marsans @QUamLreugl as&sswrenr  pagw  eren  2015-6  wQerevGar
2ifleils g emansy)

Gameur paISeng GTatTLmeug,) Sagomar BaTD erar 2015 & aveud urys blellssemeng
DG (H BHTEDS (IPSETOUG HFESOME BT eTal M&&L BrHsd ganu 2015-6 iflells g areng)

Nobel Prize for medicine in 2015 was awarded to

I Tu Youyou

IL Satoshi Omura

III. William Campbell

IV.  Arun Bahl

(A) Tonly By I IIIandIV
(C) 1Iand III only v L IlandIII
Grrue wfla 2015 w@pagieusdla Galhas @ euraenss iflelaasiiu [Hereng)
L 0uy

II. & Gundl aprm

ITI.  efléedwib CabtiG@ue

IV.  symem urane

A) Il @o (B) L IIwpgbdIV
©) I wpmd ITT wl G (D) LI wpgo I

Which country has come forward to help clean India’s River Ganga?

(A) Iran M Israel
(C)  Ireland (D) TItaly
@ndurelen skiens pHlan &55D LFw erhs BH AP subgereng ?
(A)  @oyrer (B) @evGye
€) swrarbg D) gssmed
65 GS0811
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180. The Union Urban Development Ministry has selected 98 towns/cities from all over the
country to graduate into smart cities in five yéars. Select the town/cities not included in the

List from the following -
(A) Coimbatore
(B) Dindugul
M' Chidambaram
(D) Erode
widu paEriym Guoburl () SiebEssh Brigd 98 parhismar (Eg,r'raqr Qaig) mbs peTHisarte
amrjmrfo GubmiT. parmsans WwrpHlumbss @rédang. SpssaTLeupmier eownmin iy
Ll guwiadled CargslivL TEms @gyrﬂm‘(&]&u’_la;
(A)  GsmubuggnT
B)  Hen®ind
¥ (C) Asbumbd
@ "G

181. The country that has become the first defaulter, among developed nations, on debt of
International Monetory Fund (IMF) on 30% June 2015

(A) China
B) Italy

!{ Greece

(D) Germany
2015, g 9en 30-0 eueri&Sluam_pg srsEss@ear IMF a_mear Qeaysss seufiu (s Gl a@?

(A)  omeenrm

B)  Qssnel
© B
D) Ggiwed
GS0811 68 ®
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186. Tuyouyou of China has been awarded the Nobel Prize in medicine for developing a new drug

called
(A) Avermectin M Artemisinin
(C) Ivermectin (D) DParasitin

San priewLé Colibs g, aeaTLUGSE @bs wEbos sarbllybssnans wHbgous Sopasrar
Coumue ufle euprislu’ Lg.

(A) eunQ&gen B) yhnglldlafen
(C) meunwéiger D) umprdllgen

187. Article 25 of the Constitution of India guarantees
% Right to Religion (B) Right to Property
(C) Right to life ()  Right to equality

@A i rélweenoriGen 25-cug 6fldl o sl reunswatiliLig
(A)  Fow o Mew (B) Qemzgiflenio
(€C) o8 eumgpd o Mento (D)  Fwsge 2 fenw .

188. Which one of the following is not a formally prescribed device available to the members of

Parliament?
(A) Question Hour _ M Zero Hour
(C) Half-an hour discussion (D)  Short duration discussion

LI @h 06t (D LlleniisenéE Waiel(haueieuhmer (penn F1ihg Smelurs @oars Haawrs
@5 2 m EhEE Y Diiam - dp b &

Bmiiug) erg?
(A)  Gadredl Gy B) wyeow Crpb
(C)  enmwanfl Gy efleumgibd )] @Qjé]u_l &Te efleumgid

189. The National Commission to review the working of the Constitution was set-up in the year
(A) 2001 (B) 2004
© 2003 A 2002

- Srdlweenwl Qewdubin edssens prmu CaF L penammlD Sentd&ES L L ()

@A) 2001 B) 2004
© 2003 - D) 2002
GS0811 70 ©
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190.

Match the list :

(a). Fourth Schedule
(b) Seventh Schedule
(¢ Eleventh Schedule

(d) Eighth Schedule

www.mntfreeias.com

1. Division of Powers
2. Seats alloted in the council of states
3. Languages

4. 73rd Amendment

71

www.mntfreeias.com

(a) (b) @ @
(A 1 2 3 4
M 2 1 4 3
€ 2 1 3 4
D 1 2 4 3
sfhurenens CLTmEHS -

‘(a)  preTeug) i Leusnemr 1. - w@flsmrlugly
(b) epmaug eu'_l_susmml 2. nrflohsarmas® @ass(H Qe @l_rém;sh
() uHCGermymeug) i Lauemenr 3. Quomaeir
(dy erlimeug i L cuenesm 4. T3* &L 5 Hmssbd

(a) (b) (c} (d)
a) 1 2 3 4
By 2 1 4 3
© 2 1 3 4
Oy 1 2 4 3

GS0811
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193. Which of the following recommendations are made by the Administrative Reforms

Commission to improve relations between the political and permanent executive?

1.  Minister should try to develop a climate of fearlessness and fair play among senior
officers.

2. Minister should not intervene in day to-day administration except incase of ser\;ous
maladministration

3.  The official relationship of Secretary to Minister should be one of confidence of that of
Minister to Secretary one of loyalty

' 4.  Prime Minister should take special interest to arrest/growing of unhealthy personal ’
affiliations.
All major decisions should be briefly reduced to wr1t1ngs

VK 1, 2, 4and5 (B 1,2, 3and5b (Cy 2,3and4 DY 1,2andb

Bieuna Frdmasacp <irflue womw Brpsr Grupgpedar G Guuerer e pameu GobURSS

Spsaa eThg Ufbgenraamen 6 gigcrens,) ?

(&)

SIOLOFFTEET pSE dlamhaaflen G Lomm, oD GHTEMDIITER HEE) 2 M6 CUETTESHD & TE
GLpenen eruUL (W nél&ss Geusm (b

Blireurs &mGal erpuhin ELDlu_II'E'xJBSGTﬂGb D|EDLDEFFTEHET g,sbeuuﬁll_surer sefly, e HlreurssHed
SEnedlL Sal Mg,

Qawiem, emnasisEnsdlam Guudemer a{gl;isusuaa 2 mey BObEms LOmL  efeseurs
Sflq LiienL_uded @méa Gousr(Bid

ammé&ﬁé@éﬁ@Luﬂmwm sapsopn 2 peflamen 5058 Siautser g fpliys sauad Cogss
Geuair{Hind

S{anegg pEE (plg.a|senaT F(HESONS er(psliuL. GeusHin

1,2, 4opmbd (B) 1,2 3wpmb5 (C) 2, 3wppdd (D) 1, 2wpmyd 5
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194. Which is / are correct relating to the Tribunals?
1. Part XV of the Indian constitution deals with the Tribunals.

2. Article 323 A deals with Administrative tribunals andrArticle 323 B deals with the

tribunals for oth;ar matters.
(A lonly
d 2 only
(C) Bothland2

(D) Neither 1 nor 2

Sriumumser Qgrruna sflwreneney eTg) [ eraneu?
1. @pdu sirfwueeniien 15-aug uEd Siumnukisamer elarsEAns)

2. &fldl 323 = Bieuns ﬁr'ruurrquéja;émm eflera@dlng wHmb el 323 oy, whHp STULTLRSEMET

GOLGGADSS.
A  1lwl@o
B) 2w @Eo

(©)  1lwiop 2 8w GrasrHin

D 1-b eve0 HMID 2-1b Bjebev

GS0811 74 w
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197. Consider the following statements :

The Comptroller and Auditor General of India is responsible for the audit of the accounts of
1. The Union Govt. .

2 State Govts.

3. The governments of union territories

4

The Urban and rural local bodies.
Which of these statements are correct?
M 1,2 and 3 (B) 2,3and4
(C) 1,3and4 (D) 1,2and4
QiSureien sepaanis samd@ LHNID saflsms i siilser Spsar_ sansEsmer sanlbme Qsib
QurmnYayéreneu aer ‘ '
1. WSEL TSRS
2. omEle) <o T & hISET
3. wiesilwse 97Ggsmaatlenr irsmhistiaer
4, Ba&TULW, Srmoliyp whoh 2 eremm’_& jepwliL|Se6r
ElpsaanL mpmsmer amaSled Carar() org sfluirans cren sams?
(A) 1,2w@pb3 B) 2, 3w’ G4
@€ 1,3wifmnd M 1,2w b4

198. What is the peculiar nature of the Indian Federation?

(A) Equal distribution of powers between the centre and state

M Strong centre

© Strong states

(D) Strong Local bodies

Endw gL m_Suller eNCanmssseaenLo eTeaT?

(A)  ww wrlle HresErsE Gl Cu Fwwrs Hiflsrrd ukER
(B)  augieunar epowid

(C)  eugysumen omleiser

(D) sugpeuren 2 drarm_& Si@oliLEeT

GS0811 76 0}
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199. In which one of the case, “Passport” is considered as part of personal liberty?
(A) A.K. Gopalan (1950)
(B) Indian Express Newspapers (1985)
(C) Arumugham (1953)
M Meneka Gandhi (1978)
ahg  eup&dled ‘aLeysf B Gumeug seflwells sspdr o fawyrdar Asriiymiwgrss
SRS L 5|7 |
(A) &.Cs.Camumaas (1950) QULDES;
B) @pdwen erdeniGreav Aewidlgsmer (1985) aupds
©)  =mepsd (1953) apss

(D) CGuaren snpdl (1978) cupss

200. Which of the schedules deals with division of powers between states and union?

(A)  Fourth
(B) Sixth
M Seventh
(D) Ninth

eseu(md i L eusnemraaild, LIBlmSERSEGD WHHL rFmhssHD Lol Gu fsrrhaaner
9NSg B L L_euenamT 6T ? .

(A)  Bromeug il L cusnemT

B)  pmeug L suenant

(©)  eyreaug oL cusnant

D)  geaugTeug L suenamt
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